Axles, Axle Bracket Hardware, and Anti-Tips

Chairs with Hublocks

Frames Shown For
Reference Only

Composite Rear Wheels Only

and 20”

Iz”



Axles, Axle Bracket Hardware, and Anti-Tips

Chairs with Hublocks

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 A 1118549 Anti-Tipper 1 2
2 A.B 1132603 Kit, Axle Bracket Hublock Hardware 2 1
3 1170354 Plate, Axle 1 4
4 1132563-NLA | NLA - Plate, Axle Tilt Hublock - Right 1 1
5 1132564 Plate, Axle Tilt Hublock - Left 1 1
6 1118500-NLA | NLA - Bracket, Anti-Tipper, Black 1 2
7 1055350 Screw, Hex Head (1/4-28 x 2-1/4") 1 4
8 1163325 Screw, Socket Button Head (1/4-28 x 1-1/2") 1 2
9 1026900 Washer (1/4 x 23/32 x 1/16") 1 4
10 1026907 Washer (1/4 x 1/2 x 1/16") 1 4
11 1065362 Locknut (1/4-28) 1 4
12 1158026 Locknut (1/4-28) 1 2
13 1056328 Plug Button, Black (1") 1 2
14 1040361 Axle, Quick Release w/ Locknut (1/2" x 5") 1 2
15 1049227 Screw, Hex Head (1/2-20 x 5-1/4") 1 2
16 1025737 Locknut (1/2-20) 1 2

NOTE: A - Chairs with 12" and 20" Rear Wheels.
B - Includes items 2 - 13.




